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| believethe Summonssaysor impliesthatCommissionelVilson'sReportof August8, 2000,is a Court

ruling. Is it, or did it becomea Courtruling? Thefollowing itemsarefrom the Summons:

Property, Anthony can exercise greater control over the Harold Trust’s share of the sale proceeds

than if the parties held their beneficial interests in their individual capacities.

28.  Other than its status as beneficiary of the Land Trust, there is no reason for the
continuation of the Harold Trust.

29.  On August 8, 2000, an Eleventh Account for the Harold Trust was approved by
the Commissioner of Accounts for the Circuit Court of Fairfax County and determined to be a
final account.

30.  Anthony repeatedly and unsuccessfully challenged the Commissioner’s

=

investigate a debt of $659.97 that he alleged was owed to the Harold Trust by Mrs. O’Connell’s

determination and requested, inter alia, that the Court and the Commissioner of Accounts

estate. In these proceedings, the Commissioner stated, and the court agreed, that there was no
evidence to support Anthony’s claims that a debt existed and, if so, that it was an asset of the

Harold Trust.

31.  Anthony’s repeated and unsuccessful challenges to the rulings of the
Commissioner of Accounts and the Circuit Court in connection with the Eleventh Account, and
his persistence in pursuing his unfounded claims to the present day, demonstrate that he is unable

to administer the Harold Trust effectively and reliably.

32.  Itis in the best interests of the beneﬁciariés of the Harold Trust that, upon the sale
of the Property, the net sale proceeds be distributed in an orderly and expedient manner. Based
on Anthony’s actions, he is not the proper individual to fulfill the trustee’s duties in

administering the Harold Trust.

33. The removal of Anthony as trustee best serves the interests of the beneficiaries of
the Harold Trust.
FromSummons Flag: Confusionandconflict areaflag to see

whatis behindit.

7 Reality test: Does1,475.97- 816.00= 659.977?
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      Accounting entanglement or "659s": 

An accounting entanglement is intentionally confused accounting created by the accountants and made to appear to come from their clients. Whoever controls the accounting entanglement controls the people and assets that are entangled. It is used as a wedge and takeover tool and as cover.

Small amounts are used to make them appear unworthy of correcting, as if the issue were the amount. But the issue is not the amount; the issue is that they are accounting entanglements. One indicator of the importance of accounting entanglements is that the accountants who create them, report them, approve them, and frame their clients with them, don't recognize them. The accountants have the power to remove them but their clients don't. The accountants have 100% control and 0% accountability and their clients have 0% control and 100% accountability. Forever.

The accounting trail 1,475.97 - 816.00 = 659.97 is by far the simplest example of an accounting entanglement in blueprint2p. If the accounting trail 1,475.97 - 816.00 = 659.97 is not recognized common sense suggests that something is wrong. Because this example is so clear accounting entanglements are sometimes refferred to as "659s"
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Reality test: Does 1,475.97 - 816.00 = 659.97?




